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THEXy « T - FER - 5 Mo % FREAL K B G EHAm & T2 (BB
R ERE
= 1 25, 984, 232
Al T
= 1 15, 142, 532
ARG T
= 1 347, 880
NN flEA L
m2 3,120 111.5 347, 880
AT T
= 1 14, 794, 652
ARG TAT 7V MEREERR &HEEIE 15emll T
m 440 617.8 271, 832
iR TAT7WMEREERR SHEERRE Sem
m2 3,120 530. 6 1, 655, 472
I LB
m3 156 3, 290 513, 240
ALy TA77 WMk (B 1)
m3 156 1,925 300, 300
N & FLE)T9vTy RC-30 {1 10 JE 150
mm
m2 3,120 407.3 1,270, 776
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mm
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HJE AR T 22 (20) &S 50mm
3. OmitR
m2 3,120 1,370 4, 274, 400
E3E] FAESR T A2 (20) &S 50mm
3. OmitR
m2 3,120 1,326 4,137, 120
Bkt 1
= 1 1, 414, 046
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18T
= 1 1, 414, 046
T 300 41.2X9.5X50
e 641 2,206 1, 414, 046
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= 1 133, 900
i L
= 1 133, 900
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= 1 3, 042, 216
AR AT L
= 1 3, 042, 216
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m 372 8,178 3,042, 216
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= 1 5, 535, 606
B 2
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= 3,163, 312
BU % E L =N V-
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= 715, 932
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= 715, 932
B TR
= 25, 984, 232
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= 295, 459
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= 295, 459
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HIMGERE (FE L)
= 1 3, 065, 965
Wi
= 1 29, 345, 656
B
= 1 9,033, 138
T AT
= 1 38, 378, 794
— R
= 1 6, 881, 206
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= 1 45, 260, 000
THEBLFH Y %H
= 1 4, 526, 000
TH#&G
= 1 49, 786, 000
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